&

Riservati tutti i diritti #n case & concessione di lmiv;fti‘u di regih

) Teus droits de proprigté industrielle réservés.
All rights are reserved in the svent of the grant of a patent or the r_tgislmion of & utility mode!

or design.  Ale Rechte fir den Fakt der Patenterteiiing.

PRIOR TO PRESSURIZING OF THE CYLINDER 4 SCREWS M10 ARE NECESSARY

4LYIS M10 SONT NECESSAIRES AVANT L'ALIMENTATION DU CYLINDRE
VITI M10 SONO NECESSARI

PRIMA  DELL'ALIMENTAZIONE DEL CILINDRO

E VOR DRUCKBEAUFSCHLAGUNG DES ZYLINDERS 4 SCHRAUBEN M10 ERFORDERLICH.

COPYRIGHT BY WABCO WESTINGHOUSE GMEH HANNOVER

n 190

PINHOLE IMAGE OF THE VERICLE FLANGE
LOCHBILD DES FAHRZEUGFLANSCHES

IMAGE DES TROUS SUR FLASQUE DE VEHICULE
IMMAGINE DE| FOR! SULLA FLANGIA DEL VEICOLO

VIEW LOOKING...... ..
ANSICHT.. ... . s, .. .1,
VUE SUIVANT FLECHE.:
VISTA DA '

7’

@154

LETTERING ... ... ATTENTION .. .:
BESCHRIFTET__: VORSICHT. _ .
INSCRIPTION. . _.; ATTENTION_ . -

ISCRIZIONE, ... .; ATTENZIONE :

SPRING LOAD

- FEDERVORSPANNUNG

RESSORT COMPRIME
MOLLA COMPRESSA

M16x15

e

®13 Hi3!*0,270

DRUCKSTANGE KANN

INEVERY POSITION THE PUSH ROD MAY BE PRESSED IN BY 17mm

IN JEDER STELLUNG 17 mm EINGEDRUECKT WERDEN
EN CHAQUE POSITION LA TIGE PEUT ETRE ENFONCEE DE 17mm

IN OGNI PQSIZIONE L'ASTA PIU ESSERE ENTRATA DI 17 mm

L]

DO NOT CHELK NUTS

ELROUS NON BLOQUES

MUTTERN NICHT GEKONTERT

17,

12 . ] 1 | 10

I_ j DAD!I NON BLOCCAT!
N ‘ \ |
WIDTH ACRQOSS FLATS.. ...: B
i 2° SCHLUESSELWEITE. . ..... ... 24 THREAD GREASED
i SURPLAT, ... ... ... . ... GEWINDE GEFETTET
s LARGHEZZA IN CHIAVE. . FILETAGE GRAISSE |
P_/WV\T—E "’ FILETTATURA INGRASSATA
| | F
4 Jo
— T
= § © o
] S~ #F‘F‘ ' / \ X
N\ 7 ; =
- il Ry - — J ®
Y / || 530 BI N
. _.LA\ < P4 T |
0 —
o N SR
L0
e | !
uuk/_i + 35 - c
|
WIDTH ACROSS FLATS. .....:
SCHLUESSELWEITE.........: 10
;’ ! ,\_ iLgOKE,m*z SURPLAT. ... .. ...........
0 - LARGHEZZA IN CHIAVE
COURSE
CORSA
g5 39 o
x 209 — +190 ]
» 462 -
WORKING PRESSURE....... :
BETRIEBSDRUCK ... ... .... MAX, 8 bar
PRESSION D' UTILISATION. ... c
PRESIONE DI ESERCIZIO....:
PUSH_(OUTPUT ) FORCE OF SPRING BRAKEPART. HOLD - OFF PRESSURE..: T AN NN G o ™ " 109G = » 80°C
KRAFTABGABE DES FEDERSPEICHERS. LOESEDRUCK.. . ..............2 49°" bar GAMME D' APPLICATION THERMIQUE.. . ° '
EFFORT DE PQUSSEE DE DISPQS RESSORT. PRESSION DE DESSERRAGE. . .. : CAMPO Di APPLICAZIONE TERMICA . -
FORZA DI SPINTA DELLA SEZIONE A MOLLA.PRESSIONE DI RILASCIO.... .. .:
0 MEDIUM | COMPRESSED AIR —
MEDIUM | DRUCKIUFT
FLUIDE :AIR COMPRIME
gogoo ' N FLUIDO  ARIA COMPRESSA
T=rg00 °2°°
L +380 N
- 7000—7073 STROKE °
n 6000 5900 TYPE ¢ 150 x70 E%BRSE
5000 CORSA
4000
3000
5000 FURTHER TECHNICAL DATA SEE |
IDENTIFICATION No T 8 ATE _ AT UNE e
CODE FOR DOCUMENT SHEET 0 . DRAWN 7 -WABCD :
1000 GENERAL TOLERANCES % 76-05 - 18 l HILGRAF i SPRING BRAKE CYLINDER ™
STROKE 70 60 50 40{30 20 10 O ’ - cLass e 8 uBLRL gLLnquDDRRg ﬁ SSEESRT g
HUB  — (mm} L s [ 28] 20 ]| <K X 76 0617 | fprennn | FEDERSPEICHERZYLINDER . . . .
COURSE 35 ! 03 ! 13 2 25_92%_ ] MASS SCALE IDENTIFICATION CODE
CORE | R e : =
. 5 6,5 : ' . ]
| TAPPED HOLES ACC.1S0 4039 V‘:““"“‘;g'u;:;;,,m:““ TR AT 425 304 252 0 | s
FermalLAJ_\Latklajnstt ! "} TOLERANCE CLASS APPLIED CROSSMARKED ORIG. GL.NR. ™ W ol cooe rom roncTion CobE FoR are Co0k Fon pocubERT ]
6 u 5 ] 2 V.75. 05 22 A1 1.0 ® B =
—[ i i l i 100|"nm. i _ |

o




